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a—F i Fik | BER (kg) %8 () =il hilE | 2l PE (BAL)
Y3002 =AH (4HT) 20 14, 634 1,512 1,296 216 | B 20kg
Y3011 BAS (B) 3 810 324 324 162 | BN 3kg
1 34500 B—< 22 6, 134 281 281 270 BN 22kg
34520 FRE—< 1 378 378 378 378 | BN kg
Y3033  ZEHHAL 100 20, 952 216 216 194 B 100kg
Y3044 EL¥F (H) 22 234 11 11 115N 22kg
34910 &K 65 65 65 65 | BN 1A
34980 ~bHE 648 65 65 65| &M 10AK
35940 AEIEAE 23 11,016 540 432 432 | B 23kg
34800 B B 37 14,110 43 43 32 BN "372% v b
36320 AIE L 0D 20 2, 376 119 119 119 | BM 20kg
36340 & LN EEE 41 8, 421 270 270 54| BN 41kg
37600 \F Xk 9D 5 2, 484 540 540 432 | B 5kg
49430 < =— 18 25, 142 410 281 281 | B 7418
49470 Ny arIN—Y 13 9, 968 81 81 65 | BN 1301&
71011 A7 L —3 38, 038 32 32 12| BN 1, 2904
71040 N 810 70 70 65 | BN 124
71150 L 1, 264 32 32 32| B 393K
Y3028 K 24 2, 592 108 108 108 | B 24kg
30100 |75V Z A 3L 63 6, 080 151 140 108 | JkifgE 424
30300 ' A L 100 18, 144 1,944 1,782 1,782 |db¥giE 107 —A
31100 B3 M 45 5, 832 2,160 2, 160 1,728 | R 34— R
33500 YT ¥ L 4 778 22 22 22 | 1@ 3648
33810 HHEE 4 2, 592 130 130 130 | BEIR B 2048
37440 H\ b 2 896 896 896 896 | FE IR B 14— A
Y3015 7 A UE 4 1,296 65 65 65 |5 2048
31700 Fy XY 230 24, 408 1,512 1,296 648 |BEE 2347 — A
31950 Hh¥ M 9 3,024 1,080 972 972 | ERE 3y —x
31900 ¥ S 10 4,990 432 281 173 IR B 193K (500g)
31930 Zh¥E 3 3, 888 130 130 130 |18 [ 304
32800 125 10 475 12 3 1| B 1003
34460 =L E & M 3 1,814 130 130 108 | FEA 153y 7
- 34100 | #AK 2L 35 14, 472 2,160 2, 052 2, 052 | & B Th— A
34100 #AJK L 5 2,376 2,376 2,376 2,376 | fEA 17— A
34100 | #A/I B 18 4,131 1,944 756 486 |FEIR & 44— R
34571 7Y A () 1 756 108 108 108 | #[= 74
34572 | RFUH () 1 907 130 130 130 | &&= 71&
36200 EenE 2L 100 12,312 1,296 1,188 1, 188 | Rl 10— A
36600 ~FnE L 40 7,776 3, 888 3, 888 3,888 | fufE 24— R
36600 7-FnX R 100 4, 428 1, 080 756 756 | AL #EE 5% v bk
37200 [L x 928 2L 8 3, 024 1,512 1,512 1,512 | E 24— A
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N T B foefmts BH
a— K g Eik KR (kg) &% (M) =il g il E (BAL)
33420 ) —rU—TLH R L 7,128 3,564 3,564 3,564 REF 24— A
38100 £ LWzl B L 3,024 54 54 43 B 60/% s 7
31310 ATE T 2,592 65 65 65 f@l 404%
31500 /M3 12 6, 669 119 119 92 EIRE 604%
32500 FHIE 1 702 76 76 651 K4y 103R
34800 < 5 B 10 173 5 5 5 BERE 32% v b
37560 FBBIT 1 1,296 108 108 108 | K4y 12,8y &
38400 ZODXH 30 3,888 13 13 13 | ‘B iR 3004%
38604 T U L XH 3 3, 402 113 113 113 | & 3048
Y4008 7 R B A S 35 16,740 2,700 2,268 2,268 £ T4 —2R
39350 ET M 16 2,700 432 324 270 | K%y 8 —RA
40200 HEFAIRM B2 A L 20 6,804 1,728 1,728 1,620 EEVLE 4 —2
43140 EK7Z2L 10 3,240 1,620 1,620 1,620 REA 24— A
45230 EigE5 Y5 6 2,981 216 140 86 | 4 [ 2008y 7
44000 b b 10 3,132 1,836 1,836 1,296 K% 24— A
44000 b b C 2 162 162 162 162 | R 5 1L
44304 | E&Hk 25 8, 348 1,728 1,728 1,436 | R B 55—
49300 F 7 4 T N— 5 2,916  2,916| 2,916 2,916 ==—I— 1/ —2R
| TR
&t 1, 355 360, 372




